(RrodeMath
KY THI TOAN QUOC TE KANGAROO - 2023
Pé thi Lép 1 va Lép 2 — PreEcolier

SECTION ONE (3 point problems)

1. How many circles are there in the figure?

Trong hinh vé c6 bao nhiéu hinh tron?

(A)5
> QO
€))7

(D) 8
) S,

2. The picture shows 5 cubes viewed from the front.

What is the view from above?

Trong hinh vé 1a hinh dnh cia mét khai hinh gom 5 khai ldp
phuong duoc nhin te phia trueoc.

Khi nhin tzr trén xuéng, khoi hinh tréng nhur thé ndo?

(A) ®) H o[l ol ] oM
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3. Each bowl contains four numbered balls, as shown. In which bowl is the sum of
all the numbers largest?

Trong méi lo €6 4 qud bong dwoc danh so, nhir trong hinh vé. Lo ndo c6 téng Cac sé
trén cac qua bong 1a 16n nhdt?

4. Mr. Beaver rearranges the pieces to make a kangaroo figure

Ong Beaver sap xép lai cac mdanh ghép dé tao thanh hinh kangaroo

Which piece is missing? . 3
Mdnh nao con thiéu?

n WA e & © ‘

(o) ‘ (€) ‘

5. My boat has more than 1 circle. It also has 2 more triangles than squares. Which
one is mine?

Chiéc thuyén cua tdi ¢6 nhiéu hon mét hinh tron, va cé sé hinh tam giac nhiéu hon
sé hinh vudng 1a 2. Chiéc thuyén nao 1a chiéc thuyén cuia t6i?

I — = I— /”D
/
(A>£ (B)é (c>£ (D)é (E)é
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6. This is my grandfather's birthday cake. A large candle stands for 10 years and a
small one for 1 year. How old is my grandfather?

Trén chiéc banh sinh nhdt cia 6ng ngi, mdi cay nén dai twong trung
cho 10 nam, va méi cay nén ngdn tuwong trung cho 1 ndm tudi cia éng.

Héi dng néi nim nay bao nhiéu tudi?

(A) 65 (B) 66 (C) 76 (D) 77 (E) 78

7. Pablo puts 10 toy cars on this racetrack. How many cars are in the tunnel?

Pablo ddt 10 6 t6 dé choi trén dwong dua nay. Hoi ¢6 bao nhiéu 6 t6 trong dwong
ham?

ASsS  B6 (©)7 (D)8 (E)9

8. Steven drives from X to Y. At each crossing, he stops before going straight ahead.
In total, how many times does he stop at a crossing?

Steven ldi xe di tir X dén Y. Tai mdi giao 13, anh dy lubn dimng han xe /;
lai réi méi di thang qua. Héi anh dy da dimg lai tong céng bao nhiéu
lan?

(A) 11 (B) 12 (C) 13 (D) 14 (E) 15

Y
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SECTION TWO (4 point problems)
9. There are 5 trees in a park. A beaver can see only two of the trees because all the
others are hidden behind other trees. At which of the marked points is the beaver
standing?

Trong cong vién ¢ 5 cay. Hdi ly chi cd thé nhin thdy hai cai cay vi tat
ca nhitng cdi cdy khdc déu dan sau nhiing cdi cay khac. Hdi Iy dang
dimg & diém nao trong sé cdc diém duwoc danh dau?

(A) at A (B) atB (©atC (D)atD (E) atE

10. There are 24 squares in the picture. Suchit has coloured some of the squares. How
many more squares need to be coloured so that half of the squares are coloured?

Trong hinh Vé ¢6 24 6 vudng, trong dé mét sé 6 da dioc Suchit t6 mau.

Suchit can t6 mau thém bao nhiéu 6 vudng nita dé cé diing mét nira Sé

0 vuong dwroc t6 mau?

(A)1 (B) 2 €3 (D) 4 (E)5

11. The two tokens with the question mark have the same number. What is each

missing number so that the sum is 18?
Hai thé ¢6 dau cham héi c¢é cing s6. Hoi moi so T @ + @ + ®= 18
con thiéu la bao nhiéu dé tong bang 18?

AL B2 ©3 D4 E)S
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12. Raha wants to finish the bee on the left according to the model on the right.
Raha muon vé thém cac chi tiét cho chl ong bén trai sao cho gisng hét véi chi ong
mdu bén phai.

Raha needs to win points to unlock parts of the bee. How many o

points does she need to win to complete the bee? (l ?

J
"o

*

O U s W N
)
Fa WP

Mdi chi tiét co gia tri diém tuwong ing nhir trong hinh. Héi co dy
can thém bao nhiéu diém dé hoan thanh hinh chi ong bén trai?

(A)9 (B) 10 (€)1l (D) 12 (E) 13

B Gl (& « |

13. The table has 30 boxes. After painting the boxes in row 3, row 6, column C and

column D, how many boxes will be not painted?

Trong bdng dudi day c6 30 6 vudng. Sau khi td mau tat ca cac 6 ¢ hang 3, hang 6,

cot Cva cot D, trong bang con lgi bao nhiéu ¢ chua dwoc 16? A B C D E

(A) 8 (B) 10 (C) 12 (D) 18 (E) 22

|
2
3
4
5
6
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14. A sheet of paper is folded in half. Square and round holes are punched.

M6t to gidy duwoc gdp doi, sau dé dwoe duc cac 16 tron va vudng nhu trong hinh vé.

-
- -

How does the sheet look after it is unfolded again? Ll : N

Sau khi diroC Mo ra, to gidy Sé tréng nhw thé nao ?

\/

AL E B | M| W (N NN

15. A student made the shape shown using 12 cubes. He put one drop of glue between
any two cubes that share a common face. How many drops of glue did he use?

Mgt ban hoc sinh xép khdi hinh nhw trong hinh vé tir 12 khéi ldp phwong. Ban dy
dung keo dan cac mat tiép xUc véi nhau, mai cgp mét tiep xtc ding mét giot keo. Héi
ban dy can ding téng céng bao nhiéu giot keo?

(A) 8 (B) 9 (C) 10 D)1l  (E)12
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16. Max wants to complete the puzzle shown.

Max muén hodn thanh hinh vudng duwéi day.

He has 5 different pieces shown.

Ban dy c6 5 miéng ghép khdc nhau nhw trong hinh dwéi day.

4 T

Which pieces does he have to use to complete the puzzle?

Max can dung bg ba miéng ghép nao d@é hoan thanh hinh vuéng?

L aF
B

S
o) 8 ! é

i

SECTION THREE (5 point problems)

17. Elvin has 6 identical triangles as shown.

Elvin c6 6 miéng ghép giong hét nhau nhw trong hinh vé.

Which of the following pictures can he make?

Ban dy c6 thé ghép chiing thanh hinh nao dwdi day?
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18. Five children share a birthday and each child has their own cake. Lea is two years
older than Jose, but one year younger than Ali. Vittorio is the youngest. Which is
Sarah’s cake?

Nam ban nhé ¢é clng ngay sinh nhdt. Méi ban ¢d mét chiéc banh sinh nhdt ghi tudi
cia minh. Lea hon Jose 2 tudi nhung kém Ali 1 tui. Vittorio it tuéi nhat. Chiéc banh
nao la banh cua Sarah?

19. The map shows five villages A, B, C, D and E, and the distances in kilometres
between them. Only two villages are the same distance apart no matter which route
you choose. Which are these two villages?

Bdn do hién thj nam lang A, B, C, D va E va khodng céch tinh bang km gizgza ching.
Chi ¢6 hai ngdi lang cach nhau mét khodng cdch nhw nhau cho dit ban chon tuyén
dwong nao. Hai ngoi lang nay la gi?

(A)Band E (B) Band D (C)Cand E
(D) Aand C (E) Aand D
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20. Sam walks through a two-storey maze from the entrance to the exit, both located
on floor 1. In what order will she see the wall stickers?

Chi di qua mét mé cung 2 tang, véi 16i vao va 16i ra déu ¢ tang 1 (xem hinh). Sam sé

nhin thdy cac hinh con vdt trén firéng theo thi tir nd0?

I
c7n i

21. Emma finished third in a solo dance competition. There were three dancers
between her and last place. In total, how many dancers took part in the competition?

Emma vé thit ba trong mét cugc thi nhay solo. C6 ba vii céng & giira ¢ va vi tri cugi
cung. Tong cong co bao nhiéu vii cong tham gia cugc thi?

(A) 4 (B)5 (€6 (D)7 (E)8
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22. Malik places one of the five pieces on the grid. He cannot rotate or flip the pieces.

Malik dat mét trong niam miéng ghép dwdi ddy vao hinh vudéng bén diwedi, ma khong
ldt hogic xoay miéng ghép.

Which piece should he use so that the covered numbers have the largest sum?

Malik can chon miéng ghép ndo dé tong cac so bi che di la Ién nhdt?

(A) L (B) |

(D) | (E)

(©)

23. In total. Maria has 19 apples in 3 bags. From each bag, she takes out the same
number of apples. Now the bags have 3, 4 and 6 apples. How many apples did Maria

take out of each bag?

Tong cong. Maria c¢o 19 qua tao trong 3 tui. Tir moi tui, co ay lay ra cung so tao. Bdy
gio cac tui co 3, 4 va 6 qua tao. Hoi Maria da lay ra khoi moi tui bao nhiéu qua tao?

I
L

1167

915

21813
g | :
v ® : o

24. Three frogs live in a pond. Each night, one of the frogs sings a song to the other
two. After 9 nights, one of the frogs has sung 2 times. Another frog has listened to 5
songs. How many songs has the third frog listened to?

Ca ba con éch séng trong mét cai ao. M4i téi, mét con éch sé hat mét bai hat cho hai
con con lai nghe. Sau 9 dém, trong so chdng cé mét con ech da hat 2 lan, va mét con

éch khac da nghe 5 bai hat. Con éch con lai da nghe bao nhiéu bai hat?

(A7 (B)6 ()5
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